

Available Funding

• HEAP funding is divided into 3 categories of distribution.

Category for Distribution	Funded Amount	Eligible Applicants
(a) CoC -Based on Point in Time Count Ranges	\$250M	CoC
(b) CoC-Based on Percentage of HomelessPopulation	\$100M	CoC
(c) City / City that is also a County -Based on general population	\$150M	Large cities with a population over 330,000

- Although there are two categories of funds for the CoCs, only one application will be submitted for the total amount of the CoCs allocation.
- Only one application will be submitted by each large city for the total amount allocated.



Available Funding (continued)

Continuum of Care 50213 (a) and 50213 (b)

Attachment B – Formula Funding Estimates

CoC Number	Jurisdiction	Total Homeless, 2017	Percent of Total State Homeless, 2017	Section 50213(a) Per Jurisdiction portion of \$250M	Section 50213(b) \$100M Distribution Based on Percent of Homeless Population	Total of CoC Distribution per 50213(a) and (b)	50214(c) 5% Minimum Youth Set-aside Per Continuum of Care total of 50213(a) and (b)
CA-600	Los Angeles City & County	55,188	41.100%	\$ 40,000,000.00	\$ 41,099,807.86	\$ 81,099,807.86	\$ 4,054,990.39
CA-601	San Diego City & County	9,160	6.822%	\$ 12,000,000.00	\$ 6,821,668.48	\$ 18,821,668.48	\$ 941,083.42
CA-500	San Jose/Santa Clara City & County	7,394	5.506%	\$ 12,000,000.00	\$ 5,506,486.54	\$ 17,506,486.54	\$ 875,324.33
CA-501	San Francisco	6,858	5.107%	\$ 12,000,000.00	\$ 5,107,314.68	\$ 17,107,314.68	\$ 855,365.73
CA-502	Oakland, Berkeley/Alameda County	5,629	4.192%	\$ 12,000,000.00	\$ 4,192,049.33	\$ 16,192,049.33	\$ 809,602.47
CA-602	Santa Ana, Anaheim/Orange County	4,792	3.569%	\$ 12,000,000.00	\$ 3,568,715.65	\$ 15,568,715.65	\$ 778,435.78
CA-503	Sacramento City & County	3,665	2.729%	\$ 10,000,000.00	\$ 2,729,412.12	\$ 12,729,412.12	\$ 636,470.61
CA-506	Salinas/Monterey, San Benito Counties	3,364	2.505%	\$ 10,000,000.00	\$ 2,505,250.30	\$ 12,505,250.30	\$ 625,262.52
CA-504	Santa Rosa, Petaluma/Sonoma County	2,835	2.111%	\$ 10,000,000.00	\$ 2,111,291.50	\$ 12,111,291.50	\$ 605,564.57
CA-608	Riverside City & County	2,406	1.792%	\$ 8,000,000.00	\$ 1,791,805.06	\$ 9,791,805.06	\$ 489,590.25
CA-508	Watsonville/Santa Cruz City & County	2,249	1.675%	\$ 8,000,000.00	\$ 1,674,883.45	\$ 9,674,883.45	\$ 483,744.17
CA-514	Fresno City & County/Madera County	2,016	1.501%	\$ 8,000,000.00	\$ 1,501,362.84	\$ 9,501,362.84	\$ 475,068.14
CA-609	San Bernardino City & County	1,866	1.390%	\$ 8,000,000.00	\$ 1,389,654.30	\$ 9,389,654.30	\$ 469,482.71
CA-606	Long Beach	1,863	1.387%	\$ 8,000,000.00	\$ 1,387,420.13	\$ 9,387,420.13	\$ 469,371.01
CA-603	Santa Maria/Santa Barbara County	1,860	1.385%	\$ 8,000,000.00	\$ 1,385,185.96	\$ 9,385,185.96	\$ 469,259.30
CA-510	Turlock, Modesto/Stanislaus County	1,661	1.237%	\$ 6,000,000.00	\$ 1,236,985.95	\$ 7,236,985.95	\$ 361,849.30
CA-505	Richmond/Contra Costa County	1,607	1.197%	\$ 6,000,000.00	\$ 1,196,770.88	\$ 7,196,770.88	\$ 359,838.54
CA-511	Stockton/San Joaquin County	1,542	1.148%	\$ 6,000,000.00	\$ 1,148,363.84	\$ 7,148,363.84	\$ 357,418.19
CA-512	Daly City/San Mateo County	1,253	0.933%	\$ 4,000,000.00	\$ 933,138.71	\$ 4,933,138.71	\$ 246,656.94
CA-509	Mendocino County	1,238	0.922%	\$ 4,000,000.00	\$ 921,967.86	\$ 4,921,967.86	\$ 246,098.39

Homeless Emergency Aid Program (HEAP) – Program Guidance https://www.bcsh.ca.gov/hcfc/

H8 Updated 8/22/2018



Available Funding (continued)

Attachment B - Formula Funding Estimates Continued

CoC Number	Jurisdiction	Total Homeless, 2017	Percent of Total State Homeless, 2017	Section 50213(a) Per Jurisdiction portion of \$250M	Section 50213(b) \$100M Distribution Based on Percent of Homeless Population	Total of CoC Distribution per 50213(a) and (b)	50214(c) 5% Minimum Youth Set-aside Per Continuum of Care total of 50213(a) and (b)
CA-518	Vallejo/Solano County	1,232	0.917%	\$ 4,000,000.00	\$ 917,499.52	\$ 4,917,499.52	\$ 245,874.98
CA-519	Chico, Paradise/Butte County	1,195	0.890%	\$ 4,000,000.00	\$ 889,944.74	\$ 4,889,944.74	\$ 244,497.24
CA-613	Imperial County	1,154	0.859%	\$ 4,000,000.00	\$ 859,411.07	\$ 4,859,411.07	\$ 242,970.55
CA-611	Oxnard, San Buenaventura/Ventura County	1,152	0.858%	\$ 4,000,000.00	\$ 857,921.63	\$ 4,857,921.63	\$ 242,896.08
CA-614	San Luis Obispo County	1,125	0.838%	\$ 4,000,000.00	\$ 837,814.09	\$ 4,837,814.09	\$ 241,890.70
CA-507	Marin County	1,117	0.832%	\$ 4,000,000.00	\$ 831,856.30	\$ 4,831,856.30	\$ 241,592.81
CA-515	Roseville, Rocklin/Placer, Nevada Counties	979	0.729%	\$ 2,000,000.00	\$ 729,084.44	\$ 2,729,084.44	\$ 136,454.22
CA-516	Redding/Shasta, Siskiyou, Lassen, Plumas, Del Norte, Modoc, Sierra Counties	934	0.696%	\$ 2,000,000.00	\$ 695,571.87	\$ 2,695,571.87	\$ 134,778.59
CA-513	Visalia/Kings, Tulare Counties	853	0.635%	\$ 2,000,000.00	\$ 635,249.26	\$ 2,635,249.26	\$ 131,762.46
CA-604	Bakersfield/Kern County	810	0.603%	\$ 2,000,000.00	\$ 603,226.14	\$ 2,603,226.14	\$ 130,161.31
CA-524	Yuba City & County/Sutter County	760	0.566%	\$ 2,000,000.00	\$ 565,989.96	\$ 2,565,989.96	\$ 128,299.50
CA-522	Humboldt County	759	0.565%	\$ 2,000,000.00	\$ 565,245.24	\$ 2,565,245.24	\$ 128,262.26
CA-525	El Dorado County	602	0.448%	\$ 1,000,000.00	\$ 448,323.63	\$ 1,448,323.63	\$ 72,416.18
CA-607	Pasadena	575	0.428%	\$ 1,000,000.00	\$ 428,216.09	\$ 1,428,216.09	\$ 71,410.80
CA-521	Davis, Woodland/Yolo County	459	0.342%	\$ 1,000,000.00	\$ 341,828.15	\$ 1,341,828.15	\$ 67,091.41
CA-520	Merced City & County	454	0.338%	\$ 1,000,000.00	\$ 338,104.53	\$ 1,338,104.53	\$ 66,905.23
CA-529	Lake County	401	0.299%	\$ 1,000,000.00	\$ 298,634.18	\$ 1,298,634.18	\$ 64,931.71
CA-526	Tuolumne, Amador, Calaveras, Mariposa Counties	367	0.273%	\$ 1,000,000.00	\$ 273,313.57	\$ 1,273,313.57	\$ 63,665.68
CA-517	Napa City & County	315	0.235%	\$ 1,000,000.00	\$ 234,587.94	\$ 1,234,587.94	\$ 61,729.40
CA-523	Colusa, Glen, Trinity Counties	176	0.131%	\$ 500,000.00	\$ 131,071.36	\$ 631,071.36	\$ 31,553.57
CA-612	Glendale	168	0.125%	\$ 500,000.00	\$ 125,113.57	\$ 625,113.57	\$ 31,255.68
CA-527	Tehama County	124	0.092%	\$ 500,000.00	\$ 92,345.73	\$ 592,345.73	\$ 29,617.29
CA-530	Alpine, Inyo, Mono Counties	121	0.090%	\$ 500,000.00	\$ 90,111.56	\$ 590,111.56	\$ 29,505.58

Homeless Emergency Aid Program (HEAP) – Program Guidance https://www.bcsh.ca.gov/hcfc/ H9 Updated 8/22/2018



Available Funding (continued)

HEAP Large Cities Allocation

CoC Number	Jurisdiction	:	50213(c) Large Cities \$150,000,000 Allocation	14(c) Minimum Youth t Aside Per Large City Allocation
CA-600	Los Angeles	\$	85,013,607.00	\$ 4,250,680.35
CA-601	San Diego	\$	14,110,397.95	\$ 705,519.90
CA-500	San Jose	\$	11,389,987.16	\$ 569,499.36
CA-501	San Francisco	\$	10,564,313.22	\$ 528,215.66
CA-502	Oakland	\$	8,671,116.82	\$ 433,555.84
CA-602	Santa Ana	\$	3,690,885.84	\$ 184,544.29
CA-602	Anaheim	\$	3,690,885.84	\$ 184,544.29
CA-503	Sacramento	\$	5,645,699.61	\$ 282,284.98
CA-514	Fresno	\$	3,105,519.90	\$ 155,276.00
CA-606	Long Beach	\$	2,869,833.12	\$ 143,491.66
CA-604	Bakersfield	\$	1,247,753.53	\$ 62,387.68

https://www.bcsh.ca.gov/hcfc/